
8.2 PET Result    Unit 8    SB p 65 Grammar 

Complete the gaps with correct modal verbs. 

 

1. ………………………. firemen ………………………. wear a safety helmet when they are at their station? 

a) do … have to  b) do … must   c) should … - 

2. Is it true that obese people ……………………………. eat chocolate? 

a) don´t have to  b) mustn´t   c) ought to 

3. ………………………….. you ………………………… sign at the reception desk every time  you arrive at 

work? 

a) can … -   b) are … allowed to  c) do … have to 

4. In which jobs …………………………… people …………………………. wear a uniform? 

a) don´t … have to  b) are … prohibited to  c) mustn´t … - 

5. How old children ………………………….. pay any money in a bus or train? 

a) needn´t   b) don´t must to  c) shouldn´t 

6. What ................................. you do on a train? 

a) might   b) ought to   c) shouldn´t 

7. When did you last ……………………………………. do any difficult tasks at work? 

a) have to   b) should   c) must 

8. Is there anything you …………………………….. do at work? 

a) must to   b) mustn´t   c) might not to 

9. ……………………………… you ………………………. have a special licence to drive a lorry? 

a) do … have to  b) do … must   c) might … to 

10. …………………………… you drink water from the rivers? 

a) should    b) can    c) must 

11. ………………………………….. small children have mobile phones or is it not necessary? 

a) must    b) should   c) ought to 

12. ……………………………….. it be dangerous to walk alone in the mountains? 

a) should    b) might not   c) can 

 


